HRRAK 5

B B 4 Hi  RO2

YN =] A (R | o H & 5 fs (v
RERE| EZa%d e HE| E K e th % | s | son [nniy o
() |FEvEr i i (B) o B/A |fis
BB w 240 — 298 — 298 2 1.2| 1.4
- BERTY 3 i 240 48 259 37 296 3 1.2| 1.1
= CEZ:] W 40 12 19 0 19 0 0.5 0.3
B ] 40 12 31 0 31 0 0.8] 1.5
Ll ol 120 36 140 12 152 1 1.3 1.3
FAHT ol 40 — 15 — 15 0 0.4] 0.7
NE ] 80 24 71 0 71 0 0.9] 0.7
E T ] 40 12 21 0 21 0 0.5 0.8
I LA ol 240 48 300 27 327 16 1.4 1.5
* N i 1H 80 24 63 10 73 6 0.9] 0.8
& Hi 1,160 216 1,217 86 1,303 21 7 1.1 1.2

FERE 40 40 19 1 0 20 0.5

= KEFREHE Bl <tk 40 40 26 1 0 27 0.7
£ bR 40 40 52 1 0 53 1.3 1.1
& H 120 120 97 3 0 100 0.8/ 0.6
CoRR 1 40 20 59 10 69 1.7 1.6

UG T 40 20 74 11 85 2.1
L T T % T 0] 20 63 15 78 2.0] 1.3
£ BRBE A 40 20 50 8 58 1.5| 1.5
LA 40 20 41 2 43 1.1] 0.9
& H 200 100 287 46 333 1.7[ 1.4
WA E YR A 40 20 44 10 54 1.4] 2.1
T %1’%«% 40 20 38 2 40 1.0| 1.4
5 SEFE VR R 40 20 34 7 41 1.0] 0.9
T HRALPE 40 20 49 9 58 1.5 1.2
*® ETSES KIS 40 20 9 0 9 0.2[ 0.3
INE BAEET XA 40 20 6 0 6 0.2 0.4
& Hi 240 120 180 28 208 0.9/ 1.0
WEEBN 40 40 33 8 0 41 1.0| 1.0
x . IKPE R bt 40 40 32 2 0 34 0.9/ 1.0
o B B i I 40 40 58 0 58 1.5| 1.1
& BRI T 40 40 46 0 50 .3 1.1
& Hi 160[ 160 169 14 0 183 1.1 1.1
B % ®# & &t 720| 500 733 91 0 824 1.1 1.1
wal & e & g o] a2 o 12 0.5[ 0.8
& A # & & 1,960 756 1,992| 177 0 2,169 21 7 1.1 1.1




